Limiting reagent question( two masses on
reactants)

(f) Sodium reacts with sulphur to form sodium sulphide.
2Na + S — Na,S

An 11.5 g sample of sodium is reacted with 10 g of sulphur. All of the sodium reacted but
there was an excess of sulphur.
Calculate the mass of sulphur left unreacted.

—_— (i) Number of moleg of sodium atom3xeacted = .....................
[2 moles of Nareactwith 1 mole-of S]

— =  (ii) Number of moles of sulphur atoms that reacted = ..................
N
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6 (a) The following method is used 1o make crysials of hydrated nickel sulphate.

An excess of nickel carbonate. 12.0 g. was added to 40 cm” of sulphuric acid, 2.0
molidm?. The urnreacted nickel carbonate was filtered off and the filtrate evaporated to
obtain the crystals.

NiCO; + H.SO, —e= NiSO, + CO., + H.O
NiSO, +« 7TH,O —e NiSO, 7H.O

Mass of one mole of NiSOL,.7HO = 281 g
Mass of one mole of NiCO. = 119 g
(i) Calculate the mass of unreacted nickel carbonate.
Number of moles of H,SO, in 40 cm® of '2.0 mol/dm” acid =.0.08

Number of moles of NiICO, reacted =

Mass of nickel carbonate reacted

Mass of unreacted nickel carbonate = * g 3]

(ii) The experiment produced 19.4 g of hydréted nickel sulphate. Calculate the
percentage yield. 2

The maximum number of moles of NiISO4 . 7H20 that could be formed =

L e e e e e L R L R L R L L

The maximum mass of NiSO, .7H2O that could be formed =

A Rl R S R R L LR Ll 9

Thépercentaguield = % (3]
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CuCl,(aq) + 2AgNO;s(aq) — 2AgCl(s) + Cu(NO,),(aq)

M | ‘&Mol Wil \nwm | ole N eclio
A student measures 25.0cm? of 0.500 mol/dm? copper(ll) chloride solution and

reacts it with silver nitrate solution.

(i) Name a piece of apparatus suitable for measuring 25.0cm’ of
copper(ll) chloride solution.

(ii) Calculate the maximum mass, in grams, of silver chloride that could be produced.

[M, of AgCl = 143.5] .
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Moles — Mass —
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